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@ The two dimensional yandom Variable (x57) has the Jom

probability mass function Fex,y) = X4
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e i 3 ) X=2.
Y=o0,1,2 . Find +he Conditional clistribution 05 Y Hor

1:0}/1&:

Also A#nd the conditional distibution og Y 277V€n X=1
Solution :

i X =X
The Conditional distnibution 05 Y for

£(yln) = F(0Y) 5 @
£
wheve f(x,y) is the joint 'Probabilib_y

s

Bfunction Og x and ¥
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_C_Dndiﬁorlal _Cj'r"\‘;‘hibut)m) 05 Y for X =x -

When % =0,
P(Y=o/x=0) = P(x=0,¥=0) _p  _,
P(xX =0) b2
P(Y=1/x=0)= P(x=0,¥=1) _ 2/a% _,
P(x=0) bjar P
P(\/:Q/X:O) = P(x=0,Y=2) _ }f'/l?_ S
— N
_l’ihen A= | e /
Ply=ofx=1) = Plx=t.¥=0) ~ Va+ _ .1
P(x =1) 1 a# 7
PCY=1 [x=1) :ji(x:l,y:I) 5/t  _ i
PX =1) 9/ 27 3
i Oint
POY=2/x=1) = prx=1,y-2 = 5/at  _ g o
" ~ Px=1) Nat 1 C
en w =3, r 4
P(Y=0 [x-8) = P(x=2,¥=0) _ a3 _, Y«
Plx=2) [ a3 : "
POY=t/x-2) = prx=a,y=1) = *lat  _
'P[‘x_,_.a) f&/&'—‘f 3
P(Y=a/y- :
(Y=alx-2) o prx=a,y-2) _ et _
P(x:&) 2 /a? 2
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